

County Distribution Detail Report through 02/03/2020

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,116	1,901	14	3,031	\$3,788.75	\$98.14	\$3,690.61	0.70	\$2,583.43
							Entity Total:		\$2,583.43
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,583.43
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	3,710	10,276	216	14,202	\$17,752.50	\$377.66	\$17,374.84	0.70	\$12,162.39
							Entity Total:		\$12,162.39
							Adjustment:		\$0.00
							Total Amoun	t:	\$12,162.39
Bennett									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	905	1,092	3	2,000	\$2,500.00	\$58.16	\$2,441.84	0.70	\$1,709.29
							Entity Total:		\$1,709.29
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,709.29
Bon Homme									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,959	3,910	10	5,879	\$7,348.75	\$148.74	\$7,200.01	0.70	\$5,040.01
							Entity Total:		\$5,040.01

Adjustment: \$0.00

Total Amount: \$5,040.01

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
12/2019	10,656	20,999	136	31,791	\$39,738.75	\$652.36	\$39,086.39	0.70	\$27,360.47	
							Entity Tota	l:	\$27,360.47	
							Adjustmen	t:	\$0.00	
							Total Amou	unt:	\$27,360.47	
Brown										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
12/2019	9,668	25,759	248	35,675	\$44,593.75	\$937.01	\$43,656.74	0.70	\$30,559.72	
							Entity Tota	l:	\$30,559.72	
							Adjustmen	t:	\$0.00	
							Total Amou	int:	\$30,559.72	
Brule										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
12/2019	2,253	3,547	8	5,808	\$7,260.00	\$149.00	\$7,111.00	0.70	\$4,977.70	
							Entity Tota	l:	\$4,977.70	
							Adjustmen	t:	\$0.00	
							Total Amou	int:	\$4,977.70	
Buffalo										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
12/2019	540	449	2	991	\$1,238.75	\$25.24	\$1,213.51	0.70	\$849.46	
							Entity Tota	I:	\$849.46	
							Adjustmen	t:	\$0.00	
							Total Amou	int:	\$849.46	
Butte										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
12/2019	2,465	6,351	38	8,854	\$11,067.50	\$245.47	\$10,822.03	0.70	\$7,575.42	
							Entity Tota	I:	\$7,575.42	
							Adjustmen	t:	\$0.00	

Total Amount: \$7,575.42

Campbell

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	704	1,406	8	2,118	\$2,647.50	\$53.05	\$2,594.45	0.70	\$1,816.12
							Entity Total:		\$1,816.12
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,816.12

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	2,694	5,414	24	8,132	\$10,165.00	\$208.31	\$9,956.69	0.70	\$6,969.68
							Entity Total:		\$6,969.68
							Adjustment:		\$0.00
							Total Amour	nt:	\$6,969.68

City of Box Elder, Meade Cc

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	23	2,508	43	2,574	\$3,217.50	\$82.45	\$3,135.05	0.70	\$2,194.54
							Entity Total:		\$2,194.54
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,194.54

City of North Sioux City, Un

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	863	2,695	680	4,238	\$5,297.50	\$131.96	\$5,165.54	0.70	\$3,615.88
							Entity Total	:	\$3,615.88
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,615.88
City of Sioux Falls, I	Lincoln								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	4,179	24,581	741	29,501	\$36,876.25	\$777.96	\$36,098.29	0.70	\$25,268.80

\$25,268.80

Adjustment: \$0.00

Total Amount: \$25,268.80

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,347	2,291	62	3,700	\$4,625.00	\$95.64	\$4,529.36	0.70	\$3,170.55
							Entity Total:		\$3,170.55
							Adjustment:		\$0.00
							Total Amoun	it:	\$3,170.55

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,678	7,524	218	9,420	\$11,775.00	\$246.05	\$11,528.95	0.70	\$8,070.27
							Entity Total:		\$8,070.27
							Adjustment		\$0.00
							Total Amour	nt:	\$8,070.27

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	7,578	18,764	252	26,594	\$33,242.50	\$685.11	\$32,557.39	0.70	\$22,790.17
							Entity Total		\$22,790.17
							Adjustment	:	\$0.00
							Total Amou	nt:	\$22,790.17
0									

Corson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,151	628	153	1,932	\$2,415.00	\$50.85	\$2,364.15	0.70	\$1,654.91
							Entity Total	:	\$1,654.91
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,654.91
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	3,305	5,611	37	8,953	\$11,191.25	\$250.97	\$10,940.28	0.70	\$7,658.20

							Entity Total	:	\$7,658.20
							Adjustment	t:	\$0.00
							Total Amou	int:	\$7,658.20
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	5,001	13,773	152	18,926	\$23,657.50	\$486.60	\$23,170.90	0.70	\$16,219.63
							Entity Total	:	\$16,219.63
							Adjustment	t:	\$0.00
							Total Amou	int:	\$16,219.63
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	2,063	3,498	13	5,574	\$6,967.50	\$141.33	\$6,826.17	0.70	\$4,778.32
							Entity Total	l:	\$4,778.32
							Adjustment	t:	\$0.00
							Total Amou	int:	\$4,778.32
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,754	2,881	16	4,651	\$5,813.75	\$125.95	\$5,687.80	0.70	\$3,981.46
							Entity Total	l:	\$3,981.46
							Adjustment	t:	\$0.00
							Total Amou	int:	\$3,981.46
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,205	2,146	7	3,358	\$4,197.50	\$87.28	\$4,110.22	0.70	\$2,877.15
							Entity Total	l:	\$2,877.15
							Adjustment	t:	\$0.00
							Total Amou	int:	\$2,877.15

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,271	2,860	20	4,151	\$5,188.75	\$104.62	\$5,084.13	0.70	\$3,558.89
							Entity Total:		\$3,558.89
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,558.89
Fall River									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	3,089	4,580	20	7,689	\$9,611.25	\$199.67	\$9,411.58	0.70	\$6,588.11
							Entity Total:	:	\$6,588.11
							Adjustment	:	\$0.00
							Total Amou	nt:	\$6,588.11

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	748	1,462	13	2,223	\$2,778.75	\$56.02	\$2,722.73	0.70	\$1,905.91
							Entity Total:		\$1,905.91
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,905.91

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	2,146	5,234	28	7,408	\$9,260.00	\$189.50	\$9,070.50	0.70	\$6,349.35
							Entity Total:		\$6,349.35
							Adjustment:		\$0.00
							Total Amour	it:	\$6,349.35
Gregory									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,720	3,448	3	5,171	\$6,463.75	\$141.40	\$6,322.35	0.70	\$4,425.65
							Entity Total:		\$4,425.65

Adjustment: \$0.00

Total Amount: \$4,425.65

Haakon

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,026	1,373	5	2,404	\$3,005.00	\$60.28	\$2,944.72	0.70	\$2,061.30
							Entity Total:		\$2,061.30
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,061.30
Hamlin									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,640	3,621	8	5,269	\$6,586.25	\$132.40	\$6,453.85	0.70	\$4,517.70
							Entity Total:		\$4,517.70
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,517.70

Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,090	2,644	17	3,751	\$4,688.75	\$103.95	\$4,584.80	0.70	\$3,209.36
							Entity Total:		\$3,209.36
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,209.36

Hanson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	882	2,980	22	3,884	\$4,855.00	\$99.74	\$4,755.26	0.70	\$3,328.68
							Entity Total:		\$3,328.68
							Adjustment		\$0.00
							Total Amou	nt:	\$3,328.68

Harding

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	696	864	2	1,562	\$1,952.50	\$49.48	\$1,903.02	0.70	\$1,332.11

Entity Total: \$1,332.11

Adjustment: \$0.00

Total Amount: \$1,332.11

Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	4,226	14,205	233	18,664	\$23,330.00	\$512.75	\$22,817.25	0.70	\$15,972.08
							Entity Total	:	\$15,972.08
							Adjustment	:	\$0.00
							Total Amou	int:	\$15,972.08
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	2,896	5,061	50	8,007	\$10,008.75	\$219.34	\$9,789.41	0.70	\$6,852.59
							Entity Total	:	\$6,852.59
							Adjustment	:	\$0.00
							Total Amou	int:	\$6,852.59
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	606	1,072	6	1,684	\$2,105.00	\$42.83	\$2,062.17	0.70	\$1,443.52
							Entity Total	:	\$1,443.52
							Adjustment	:	\$0.00
							Total Amou	int:	\$1,443.52
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	649	858	4	1,511	\$1,888.75	\$38.23	\$1,850.52	0.70	\$1,295.36
							Entity Total	:	\$1,295.36
							Adjustment	:	\$0.00
							Total Amou	int:	\$1,295.36
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	824	1,247	5	2,076	\$2,595.00	\$53.63	\$2,541.37	0.70	\$1,778.96

Entity Total:	\$1,778.96
Adjustment:	\$0.00
Total Amount	t: \$1,778.96

Reporting Period Telecom Lines Wireless Lines VOIP Total Lines Admin Fee Net Surcharge Entity Entity Amount Surcharge Lines Percent 12/2019 547 682 3 1,232 \$1,540.00 \$31.22 \$1,508.78 0.70 \$1,056.15 Entity Total: \$1,056.15 Adjustment: \$0.00 **Total Amount:** \$1,056.15

Kingsbury

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,308	3,927	56	5,291	\$6,613.75	\$135.37	\$6,478.38	0.70	\$4,534.87
							Entity Total:		\$4,534.87
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,534.87

Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	2,669	9,090	64	11,823	\$14,778.75	\$307.27	\$14,471.48	0.70	\$10,130.04
							Entity Total:		\$10,130.04
							Adjustment		\$0.00
							Total Amou	nt:	\$10,130.04

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	7,781	16,790	155	24,726	\$30,907.50	\$636.26	\$30,271.24	0.70	\$21,189.87
							Entity Total:		\$21,189.87
							Adjustment:		\$0.00
							Total Amour	nt:	\$21,189.87
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

12/2019	3,807	23,242	1,444	28,493	\$35,616.25	\$765.23	\$34,851.02	0.70	\$24,395.71
							Entity Tota	:	\$24,395.71
							Adjustmen	:	\$0.00
							Total Amou	int:	\$24,395.71
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,019	1,756	215	2,990	\$3,737.50	\$83.95	\$3,653.55	0.70	\$2,557.49
							Entity Tota	:	\$2,557.49
							Adjustment	::	\$0.00
							Total Amou	int:	\$2,557.49
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,582	2,833	14	4,429	\$5,536.25	\$115.28	\$5,420.97	0.70	\$3,794.68
							Entity Tota	:	\$3,794.68
							Adjustmen	::	\$0.00
							Total Amou	int:	\$3,794.68
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	2,141	4,245	17	6,403	\$8,003.75	\$162.54	\$7,841.21	0.70	\$5,488.85
							Entity Tota	:	\$5,488.85
							Adjustment	::	\$0.00
							Total Amou	int:	\$5,488.85
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	981	1,537	4	2,522	\$3,152.50	\$75.57	\$3,076.93	0.70	\$2,153.85
							Entity Tota	:	\$2,153.85
							Adjustment	:	\$0.00
							Total Amou	int:	\$2,153.85

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	3,564	17,848	248	21,660	\$27,075.00	\$579.83	\$26,495.17	0.70	\$18,546.62
							Entity Total	:	\$18,546.62
							Adjustment	:	\$0.00
							Total Amou	nt:	\$18,546.62
Mellette									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	564	693	0	1,257	\$1,571.25	\$31.45	\$1,539.80	0.70	\$1,077.86
							Entity Tota	al:	\$1,077.86
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,077.86

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,003	1,581	4	2,588	\$3,235.00	\$65.16	\$3,169.84	0.70	\$2,218.89
							Entity Total:		\$2,218.89
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,218.89

Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	42,341	149,886	2,921	195,148	\$243,935.00	\$5,121.73	\$238,813.27	0.70	\$167,169.29
							Entity Total:		\$167,169.29
							Adjustment:		\$0.00
							Total Amour	nt:	\$167,169.29
Moody									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,394	4,589	37	6,020	\$7,525.00	\$176.81	\$7,348.19	0.70	\$5,143.73
							Entity Total:		\$5,143.73

Adjustment:\$0.00Total Amount:\$5,143.73

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	25,270	79,175	1,665	106,110	\$132,637.50	\$2,869.20	\$129,768.30	0.70	\$90,837.81
							Entity Total	:	\$90,837.81
							Adjustment	:	\$0.00
							Total Amou	nt:	\$90,837.81
Porkins									

Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,710	2,291	8	4,009	\$5,011.25	\$110.42	\$4,900.83	0.70	\$3,430.58
							Entity Total	:	\$3,430.58
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,430.58

Potter

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,097	1,777	9	2,883	\$3,603.75	\$73.20	\$3,530.55	0.70	\$2,471.39
							Entity Total:		\$2,471.39
							Adjustment		\$0.00
							Total Amou	nt:	\$2,471.39

Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	3,366	4,991	17	8,374	\$10,467.50	\$231.76	\$10,235.74	0.70	\$7,165.02
							Entity Total:		\$7,165.02
							Adjustment:		\$0.00
							Total Amour	nt:	\$7,165.02

Sanborn

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	764	1,752	4	2,520	\$3,150.00	\$63.12	\$3,086.88	0.70	\$2,160.82

Entity Total: \$2,160.82

Adjustment: \$0.00

Total Amount: \$2,160.82

Spink

12/2019

2,417

3,880

10

эріпк									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	1,933	4,479	22	6,434	\$8,042.50	\$167.53	\$7,874.97	0.70	\$5,512.48
							Entity Tota	ıl:	\$5,512.48
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$5,512.48
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	704	2,130	32	2,866	\$3,582.50	\$77.37	\$3,505.13	0.70	\$2,453.59
							Entity Tota	ıl:	\$2,453.59
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,453.59
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	632	1,182	4	1,818	\$2,272.50	\$46.07	\$2,226.43	0.70	\$1,558.50
							Entity Tota	ıl:	\$1,558.50
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,558.50
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
					* ***	* · · · • •			• · ·

12/2019	0	68	3	71	\$88.75	\$11.69	\$77.06	0.70	\$53.94
							Entity Total	:	\$53.94
							Adjustment	:	\$0.00
							Total Amou	int:	\$53.94
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$7,883.75

\$162.81

\$7,720.94

0.70

\$5,404.66

6,307

	Entity Total:	\$5,404.66
	Adjustment:	\$0.00
	Total Amount:	\$5,404.66
Turner		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	2,210	6,203	17	8,430	\$10,537.50	\$212.42	\$10,325.08	0.70	\$7,227.56
							Entity Total:		\$7,227.56
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,227.56

Union

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	3,016	11,104	550	14,670	\$18,337.50	\$433.93	\$17,903.57	0.70	\$12,532.50
							Entity Total:		\$12,532.50
							Adjustment:		\$0.00
							Total Amour	nt:	\$12,532.50

Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/2019	2,009	3,603	137	5,749	\$7,186.25	\$145.55	\$7,040.70	0.70	\$4,928.49
							Entity Total:		\$4,928.49
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,928.49

Yankton

Totals

			Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
12/20	12/2019	5,175	15,804	190	21,169	\$26,461.25	\$545.00	\$25,916.25	0.70	\$18,141.38
								Entity Total:		\$18,141.38
								Adjustment:		\$0.00
								Total Amour	nt:	\$18,141.38
								Adjustment:		\$0.0